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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ - -
s 1.00 | 000 ~ 470 5861 | NS | 000 ~ 0.00| 1.64 876 st 1.00 | 6.00 ~ 5.00 58.61 | Th4 | 5,00 ~ 6.00 | 1.64 8.76
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 723 91.97 | =S | 000 ~ 7.23| 1.93 10.51 st 1.00 | 5.00 ~ 9.80 91.97 | #hdH | 5,00 ~ 980 | 1.93 10.51
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 747 95.38 | #nLS | 000 ~ 747 1.81 971 st 1.00 | 5.00 ~ 9.80 95.38 | =hLS | 5.00 ~ 9.80| 1.81 9.71
4 100kN/mM#E#B25 | 1.00 | 000 ~ 0.10 101.45 |3m%E#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 1267 ~ 1297 101.45 |3m%E#Bz% -~
s 1.00 010 ~ 788 100.00 | =5 | 000 ~ 0.00| 1.67 840 st 1.00 | 6.00 ~ 1257 100.00 | =nst | 6.00 ~ 1297| 1.57 8.40
5 100kN/mM##B25 | 1.00 | 000 ~ 020 102.95 |3m%E#BZ 5 -~ - - -] 100kN/mZ#8z5 | 1.00 | 1223 ~ 1302 10295 |3mZ#Bz25 -~
s 1.00 | 020 ~ 799 100.00 | =nst | 0oo ~ 0.00| 1.68 847 st 1.00 | 6.00 ~ 1223 100.00 | =nst | 6.00 ~ 1302 1.68 847
P 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 4.76 59.33 | #nRS | 000 ~ 4.76| 1.77 946 st 1.00 | 6.00 ~ 5.00 59.33 | =nhLS | 5.00 ~ 5.00| 1.77 9.46
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.36 66.86 | ThUS | 0oo ~ 536 205 10.97 st 1.00 | 6.00 ~ 7.00 66.86 | Thst | 5.00 ~ 7.00| 2.05 10.97
P 100kN/mM#E#BZ5 | 1.00 | 000 ~ 344 15656.46 |3mZE BZ 5| 0.00 ~ 053] 3.30 17.64 | 100kN/mZ#825 | 1.00 | 1070 ~ 31.39| 155,46 |3mERBZB| 25,00 ~ 31.39| 3.30 17.64
s 1.00 | 344 ~ 1123 100.00 | #nst | 0.68 ~ 1123 3.00 16.06 st 1.00 | 6.00 ~ 1070 100.00 | =nst | 5.00 ~ 2500 3.00 16.056
9 100kN/m%#8%% | 1.00 | 000 ~ 302| 14797 |3m&EBZ5| 000 ~ 0.11| 3.06 16.34 | 100kN/mi%#82% | 1.00 | 10.65 ~ 30.31 147.97 |3mZE#BZB| 5000 ~ 3031| 3.05 16.34
s 1.00 | 302 ~ 1080 100.00 | =St | 011 ~ 1080) 3.00 16.06 st 1.00 | 6.00 ~ 1065 100.00 | =nst | 6.00 ~ 3000 3.00 16.06
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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